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0, =4,000-5,000P, +3,500P, +400/ +2,0004
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T | WEanane | siedu | sefunmidoe | annEnauduaag
Manam gavine  PRMERT

Q TR=PxQ MR=dTR/dQ ZP

100 1 100 - =

90 2 180 80 £6188

80 & 240 60 -3.40

70 4 280 40 -2.14

60 5 300 20 -1.44

50 6 300 0 -1.00

40 7 280 -20 -0.69

30 8 240 -40 -0.47

20 € 180 -60 -0.29

10 10 100 -80 -0.16

s185UNUILFANNY (Marginal Revenue)
= o o a £ A P I ,
PN FUNANTLLN DI FUAN DTS

_dTR
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P = AAQ

TR = Q(A-A Q)

i d p
U MR_@(AQ—A,Q )

MR = A-2A.Q
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Wia TR = P xQ

TRAZHAWANIY  fidela 2., fpn >1
TRaziAanay  fislaile 2., HA<i

WASTR azilpnAnAn fradle 2p HAn = 1
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TR AzHALANTY nAaLiea Y., dA1 <1

a1 @ = a1
TR [sNAIRAARY NAALNA ZP a1 >1

aa a & 1 =
waz TR AEUAIAWAND AIBLND D fiAq = 1
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The ABC marketing consulting firm found that a
particular brand of portable stereo has the following
demand curve for a certain region :

Q =10,000 - 200P + 0.03Pop + 0.61 + 0.2A

Where Q is the quantity per month, P is price ($), Pop
is population, | is disposable income per household ($),
and A is advertising expenditure ($).

a. Determine the demand curve for the company in a
market in which P=300, Pop=1,000,000, 1=30,000, and
A=15,000.

b. Calculate the quantity demanded at prices of $200,
$150, and $125.

c. Calculate the price necessary to sell 45,000 units.
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